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I would have thought the pious ones agree with Rabi Dohsoh

Overview

The mwn ono of oyux is discussing how to prevent the thieves from the
transgression of eating *v27 073 outside 2°%17. The ruling of X017 ' is regarding
that the poor people should not transgress unknowingly by taking too much vp. The
1Y were 227 their M, and by 7" they were 7°pon the illicit vPb. X stated that
without 713m1> "7 we may have assumed that the 7¥¥ [certainly] agree with 7",
however 7" does not agree with the 1v1x (for the o251 made a 73pn only for the
unwitting poor people but not for the thieves who are stealing the grapes).

- 2955909 Y9NYY 1YrTPNY PYID PN 1Y BIIFAN IYNINI K HTIT PN 119 XY
And the rulings of the 7°¥11% and 7" was not legally justified, since the rule is that
where an item was stolen and the owners did not give up hope, both the owner
and the thief cannot sanctify, nor exchange, nor be 255% this item -
= 235 DY 1YW DY 9PPNDI HIND NINIVWAA 1939 NPINT NI NIPH NNNN NON
Rather, on account of a enactment, the 3139 placed it in the possession of the
owner to allow him to be % the N7 of the *¥27 073, and to be 2 po» the illegal
vp? in order that the poor people and the thief should not stumble and transgress
their respective prohibitions. This is the opinion of the o°y1¥ that the 71pn was made for °21x

(regarding *¥27 073) and certainly for the 01y (regarding vp») -
- 233 XD) NIPN 129 Y DIYAT PWINT 7Y 1YY NDIT 2

However 7''1 disagrees with the w112, for the 3129 made this enactment for the

poor people only (by vp?), but not for the thief (by *va1 o13). This is what we would
have assumed if not for the statement of a7 " -

= TAN 927 199N NDIT 229 PV 1IN’ 229 YMIINRPT RNYN Yan
However, now that >'' stated that the PYux and 7''9 said the same thing, so the

rule is effective both for the 0*1v and the 0°213 -
= 1577 19 NON 30pn HHNN XDT NXIN 9210 )5 ON

' wTpi? is not relevant to the discussion here. Md0IN mentions it because in the initial ruling of 2°7¥a7 WX»N1 K91 512
mention was made that 12°7pa% 12127 X 0w (see on the 'R 7).
2 Therefore according to this ™1, the 99’11 and the 7577 would not absolve (1777 “p>yn) the 0°213 and the o1 from
transgressing the 0°170°R of *¥211 013 and taking extra vp® (respectively), for since the food was not in the possession
of the owners, they have no right to either be 2%m1 or 2°pon them.
3 If it were 73pna N how does " know that 7"7 agrees with the 1¥¥, perhaps 7"1 maintains that the 730 is only
for the o°1v, but not for the 0°213. Therefore since " states 717X 727 172K that means that 197 9" they can be pom Yomn;
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Therefore °'"'7 must maintains that it is effective not on account of an enactment,
but rather it is justified lawfully* —

m»oIN questions his assumption:
= 519992909 559 1999907 TAN 927 YININRP NPYT N9592 1957 99199199 S¥a XD

But »2X did not want to say that the 7y1X and 7" say the same thing only

regarding 779992, namely that both of them do not maintain 579593, but not that the
“pom 919m is effective 177 W wn, rather it is only® 7pnm namm —

mooIn rejects this approach:
= ION 929 VNN YIYN TN 929 290V

For when 711 "1 states 71X 927, this indicates it is actually the same thing regarding
all matters, including that 7" agrees with the Pyx.

mMooIN asks:
=930 229 DIN (3,797 975N AVITNI 9IYN PH92T YD

And there is a difficulty, for 317> ' states in 2©Y977 Y7 P90 -
= AN 927 UNN INDT THN 927 199N 032997 )2 RDIT 229 INYNIY) 239

s"9 and 77"'279 said the same thing’, however there it is not actually the same
thing -

= 9909 NYUNA DAN TAN 927 199N NPT ¥ana1
For it is only regarding ‘touching’ that they say the same thing, but they argue

regarding ‘carrying’. n1ooin cites the relevant sources -
= DINYNIYY 229 2937 YN NDY RYNI DINNVN DN INSN 2IY )N "0NnY

For the mwn» taught there, ‘two half-2°nr of meat are X»u» when you carry

them, but not by touching them, this is the opinion of 3"’ -
= PINIY T9NN PNNVND DI (xnswm /) 992 EMTANR NN 13N NDIT 2297 XINN)

And in that ruling of 7'9, the ;73w» taught in 's P25 mbaR noon, “all that cause

in that case there is no difference between 01y and 0°213. See ‘Thinking it over’.
4 moon seems to be saying that the w17°n of »ax is (not merely that 7" agrees with the 7°Y11%, but rather) that the 717°m
Tpom is effective 177 TP v, and not only 73PN Ny,
> How does »ax know that jam1 ' maintains that it is 777 9p°vn and 7" agrees with the 1¥1%, maybe all 131 "1 meant
to say is that both 7" and the 1"¥11¥ maintain 77272 PR.
6 Therefore 7" would still disagree with the 7y1x.
7 ®,70p in the mwn. The case there is regarding the hide of a 77°21 on which there are two pieces of 79°21 meat, each
the size of a n°1 *xn. If a person touched the meat he is not Xnv since each piece which he touched is less than a n°r3
and cannot be Xnun. However if he carried the hide with the two 0°n°7 >xn he is X»v since he carried a n°r2 of 77°21 wa.
8 The beginning of this mwn is also cited there in P71 'on.
° This means for instance a n°1> from a corpse.
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782 in a tent, which were divided'’ -
= JPRNVN 00N 99701 ©I2I390 Ja XDIT 229 Yy 19029

And he brought it into a house, 17''279 is 977v» the content of the house, and the

2201 are R»WWn; the mwn continues to expound on this P12y -
= 9915 INYI IN N3350 )10 DINOT INNM 2IYIA YNIN 189D

How is this so; whoever touched the two 2503t 5217 or carried them, etc.’ he is 1m0
according to 7"277 (and &»nv according to the 7127) -
= NYUN) ¥)3102 9001 ©1%291 12 NOIT 2297 yavn

This indicates that 77''279 is 977u% by both ya% and Xw?, which is in conflict with >
who is ¥an2a 770n but is Xwn2a Xnvn, so how can 7301 ' state TR 727 17K 7277 YRS ', since
they are not in complete agreement?!

NS0IN answers:
- LXWHA NY NIT 20 99 GN WUIN PR TAN 937 190N 9107 119 99995 U9

And one can say; since regarding ‘touching’ they agree, we are not concerned
that they are not in agreement regarding ‘carrying’ —

mooin offers an alternate explanation:
= INYNIYH 2395 NDIT 29 9207 9125127 NN 2919507 PN 13529 9NIN )

And additionally, says the >'' that it is possible to say that 7''7 agrees completely

with °'""9 even regarding xwn -
= 99139 911992 »9OR NDYT 229 129719192 1391 D99V81) HNYNY? Y3957 NN

And this which ' maintains that the two 2°n°7 °Xx7 are combined to be Xnvn that
it in a case where the two 2°n°7 °R¥r are somewhat attached, however 7''1 is

discussing a case where the two 0°n°7 °RX77 are completely separate therefore he is
o -
= NRYNRY NXNNA XDIY 9INPT 13905 92101 NNOY RYIIT NN XY '¥a XU 20T

For regarding ‘carrying’, we require a carrier provided that the object being
carried should be attached together, as X" stated in that x>0 -

19 Now each piece is less than a n°13.
"' In our case if 7" does not agree with the ¥1¥, and since their only agreement is 7712 7% (which they do not
mention at all), we cannot consider it to be 7R 927 172X, since they do not agree in their explicit rulings (the vy
maintain that there is a mipn for o°21, while 7" maintains there is a 7pn for 0™ (only) [The Py never ruled
explicitly that there is a 73pn for o»1v]). However by the case of nxmw, since they both explicitly agree that there is no
van R for two 0°N°7 °R¥M, it can be considered as X 127 1AK..
12 There is a thin strip which combined the two 2°n°7 "X,
13 The p105 (in n,X [Prw] X1P7) reads "3 ®AvI A 70921 DR XwIm. The word Xwim (read Xw1m, the one who is carrying)
is written without a """ allowing us to read it X137 (and that which is carried). X9 interprets this to mean that the
item carried has to be attached to combine them for a n°r2.
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= 168919712 NI NA 2D 991 INDAYT 1599299 KDY HNDIT 9299 KDY YPIN)
And we will establish X2 like 7', but not like the j139, for disregarding this

issue there is a dispute of 27810 regarding this ruling of X»W -
— NN YN XINY 9PV T3

And whatever we can justify according to 871w we will establish it so —

Another option:
SINN 9327 199X T 15D 19 181329 NN 19993 1NNNDD 1P XD 133 ON

Or you may also say, X' will establish the dispute between 2°n5m 7" in a case
of 77197 (attached), and X agrees with the 139, and X2v does not agree with *"
that °"71 7"1 said the same ruling.

Summary
71m° " is teaching that legally one can be 7179 or 7°pon something which is not in his

possession. TR 727 1K can apply even if they argue as long as in one case they
explicitly agree.

Thinking it over
How can we reconcile that on one hand 7111 1 maintains 2°%¥27 WR>N1 X7 913 the

owners cannot be w>7pn since it is not 1NW13, and here we say according to >" that
the Pyx and 7"1 maintain that the owners can be 7°pom 9711 even though it is not
onwn2a?!t

14 Therefore 7"1 maintains if the two pieces are not attached they are not Xaun as X?7W rules, and if they are attached
they will be Rwna Rnvn just like PRyPws .
15 The 1121 are ®nun by o°n°1 *x¥n "w. They do not agree with X7 and they are Xwn3a xnvn whether they are attached
or not.
16 A marginal note adds here; X"12 "o X2W1. Perhaps mo01n is explaining that one should not wonder why 87w follows
7"9 and not the 1327, therefore nMooIN adds that there is also there in 1211 a dispute between 131271 X" and X2 agrees
with X" (not the 1127), therefore there is no difficulty in saying that he also follows 7"7, who argues with the 1121
17 The X7na there in 1911 challenges X7 from the ruling of 9Xy»w> "1 and ¥"9, and provides an answer. Seemingly what
is the question, since X2 rules like 7"7 against the 1127 (see footnote # 16), we can understand that he rules like 7"
against ", so why ask and answer, M501n responds we like to minimize the contradiction as much as possible.
'8 This seems more likely for why should 87w rule like 7" against the 1327 (majority)?
19 See footnote # 3.
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